
Important Warning!

Age: 3 Years +
Maximum user
weight :25Kg

1. Not Suitable for children under 36 months. 
Choking hazard due to small parts

2.  For family and domestic use only
3.  Not to be used in traffic
4.  Adult assembly required
5. Warning! Protective equipment should be worn
6.  This toy has no brake
7

8. This toy contains batteries that are 
non-replaceable

.  This toy is unsuitable for children under
3 years due to its maximum speed.

Please keep this manual for future reference as it contains important information.
Before first time use, charge the battery for at least 8-12 hours, no more than 20 hours.

Model No.: BBH-968 
Item No.: FZ8467



 1

IMPORTANT!
 YOU MUST CHARGE THE BATTERY 
FOR 12 HOURS BEFORE FIRST USE!

Charge the battery after each use. 

Charge the battery at least once a month, even if the vehicle is not in use. 

Email or call Customer Service if you need assistance or replacement 
parts. 

Read this entire manual to ensure 
proper assembly and safe operation 

of the vehicle.

email:enquiries@hunterproducts.com.au



Below 40OC

DC 6V 4.5 AH 
98*52*42CM

*1

Input: 100-240V, 
50-60Hz 0.2A

3+ years
Under 25Kg

PP

Suitable age:
Load Capacity:

Material:

Charger:

Battery:

Optimum
Product size:

Temperature:

Charging time:

Fuse:Output: 8V 500mA

8-12 hours,
at most 20 hours

F 5A,Self-resetting

!

 2

Page 2

Page 3-4

Page 5

Page 6-8

Page 9-11

Page 11-12

Page 12-14

Page 14

Page 15

Operate



  3 4

4

 3

35



Instruction
Manual

Spanner

2

2
Important Warning!

Age: 3 Years +
Maximum user
weight :25Kg

1. Not Suitable for children under 36 months. 
Choking hazard due to small parts

2.  For family and domestic use only
3.  Not to be used in traffic
4.  Adult assembly required
5. Warning! Protective equipment should be worn
6.  This toy has no brake
7

8. This toy contains batteries that are
non-replaceable

.  This toy is unsuitable for children under
3 years due to its maximum speed.

Please keep this manual for future reference as it contains important information.
Before first time use, charge the battery for at least 8-12 hours, no more than 20 hours.

Model No.: BBH-958
Item No.: SP8466

 4



13

13

15

15

13

13

15

15

11

11

11

11

10
10

10
10

6

6

2

8

8

12
5

5

3

4

9

9

 5

To
ol

s 
R

eq
ui

re
d



 wheel

front wheel

Note: both sides of the front wheel
installation method is the same

 6

M8 Nut

Wheel

Core wheel

M10 WasherFront axle

M8 Nut

Core wheel
M10 Washer

Front wheel

Rear axle

Driving wheel

M8 Nut

Core wheel
M10 Washer Rear axle

Gear box

Install drive motor on the rear axle



M4x12 Screw
Seat

A hook on the back of the cushion

The back of the seat hook into
the body of the card slot.

Screw two M4 x 12 screw seats.

Insert the steering wheel into the 
end of the direction bar. 
Alignment of the hole on the 
steering wheel with the hole 
on the direction bar and insertion 
of the M5 x 35 unit screw.

Press the windshield into the 
body until installed.

Windshield

 7



 .

Battery Safety Warning
Non-rechargeable batteries can not be recharged.
Batteries can only be recharged under adult supervision.

  Rechargeable batteries should be removed from vehicle before charging.
Different types of batteries or old and new batteries can not be combined.
The battery should be placed in the correct polarity.
Exhaust batteries should be removed from vehicle.
Power terminals must not short-circuit.
Dry batteries are not available.

 8

Rear view mirrors
Insert the hook on the mirror into the
holes on both sides of the body.

Dock the docking plug
before installing the seat

Note: power plugs cannot be
operated in reverse

!



25

!

 9



1. Turn on the power switch first.
2. Forward

● Press the“Forward and Reverse switch” to the “Forward”position.
● Press the pedal.
● The vehicle drives forward.

3. Stop
● Remove foot from the accelerator pedal to stop the car.

4. Reverse
● Press the “Forward and Reverse Switch” to the “Reverse” position.
● Press the pedal.
● The vehicle drives backward.

Always stop vehicle
when changing the
speed or direction to
avoid damage between 
the gear box and motor.

 10

General Power Switch Forward Reverse Switch

Pedal
Switch



5A

Battery 6V

Motor

D

Power Switch Pedal Switch
Forward & Reverse Switch

Charging Socket

 11

!



!

!

 12

1. Find the charging input socket below
the seat.

2. Plug the charger port into the input
socket.

3. Plug the charger plug into a wall outlet.
The battery will begin charging.



 13



 14



 15



Our goods come with guarantees that cannot be excluded under the Australian Consumer Law. 
You are entitled to a replacement or refund for a major failure and for compensation for any other 
reasonably foreseeable loss or damage. You are also entitled to have the goods repaired or 
replaced if the goods fail to be of acceptable quality and the failure does not amount to a major 
failure.

Where a failure does not amount to a major failure, we are entitled to choose between providing 
you with a repair, replacement or refund. To obtain compensation, you would need to provide 
documentary evidence of the loss or damage suffered, and documentary evidence that such loss 
or damage was a reasonably foreseeable consequence of a failure by us to comply with a 
consumer guarantee under the Australian Consumer Law. Such evidence may include 
photographs, statutory declarations, receipts or reports (e.g. from your doctor), depending on the 
loss or damage. 

In addition to all rights and remedies to which you may be entitled under the Competition and 
Consumer Act 2010 (Commonwealth) and any other relevant legislation, the manufacturer 
warrants this product to be free from defects in materials or workmanship for a period as stated 
on the packaging from the date of purchase.  

In order to claim under this warranty, you will need to bring the product to the store of purchase, 
along with proof of purchase (typically this will be a receipt). Any cost incurred by you in bringing 
the product to the service desk will be borne by you. We will then, at our option, either repair or 
replace the product, or refund your money and take back the product.  

Our liability under this manufacturer’s warranty is subject to us being satisfied that a defect was 
caused by defective workmanship or materials, and was not caused by or substantially 
contributed to by other factors, or circumstances beyond our control, including (but not limited to) 
defective installation, maintenance or repair, alteration or modification of the product in any 
manner not recommended by the manufacturer or any neglect, misuse or excessive use. 

The benefits conferred by this manufacturer’s warranty are in addition to all rights and remedies 
conveyed by the Competition and Consumer Act 2010 (Commonwealth), and any other statutory 
rights to which you may already be entitled, and this warranty does not exclude, restrict or modify 
any such rights or remedies that are implied by law.  

HUNTER PRODUCTS  

Level 2, 424 Warrigal Road Moorabbin 3189 

Ph: 1800 224 094 

Email: enquiries@hunterproducts.com.au

20190620

 16




